EA140HE—41~—124
(fREEARI=F>)

(B mm)
ama-rae | Bl | HEX, | HEX, | L I A B E MXP | gnre
HE—41 4 1/8” 14 14 | 255 | 11 8 16 5 M12X1 2.5
HE—42 4 1/4” 17 14 | 285 | 14 11 16 5 M12X1 2.5
HE—61 6 1/8” 17 17 27 11 8 17.5 5 M14X1 4
HE—62 6 1/4” 17 17 30 14 11 | 17.5 5 M14X1 4
HE—63 6 3/8” 19 17 | 31.5] 15 12 | 17.5 5 M14X1 4
HE—82 8 1/4” 19 19 | 315 | 14 11 19 6 M16X1 6
HE—83 8 3/8” 19 19 | 325 ] 15 12 19 6 M16X1 6
HE—102 10 1/4” 22 23 [ 345 | 14 11 | 21.5 9 M20X1 8
HE—103 10 3/8” 22 23 [ 355 | 15 12 | 21.5 9 M20X1 8
HE—123 12 3/8” 24 26 [ 375]| 15 12 23 10 | M22X1 9
HE—124 12 1/2” 24 26 | 405 | 18 15 23 10 | M22X1 9
L1 =
ACiPFT - M
k HiEE X
HEX) .~ ft ] | E{max <
miE o -

1. TEFREQIURYFHE
BLF2—DH#HLAD T TR F5ET., Ty a) oI & BLENALHRFT
SIERSEE T CHEICIRAALATEET,
2 RELRR=E
NE—IBO=OF1—TARER—BTENZONFET,
3EEAR—REKIGIZHE/N

ARGHEEEE
BHE W tHk
PNV Biiss---PBT FERARE--ZER
£E$---Cc3604BD {EAMEHN---0~1MPa

Fayy SUS301 €&FE---10Torr
Fey g — KYTEI=I EHRE---—15°C~60°C
kYA C3604BD (EEETEE)
AVE 2 NBR
yVEUV/A VTSN
TAAHZYT I C3604BD

it ] Fy e ol [Tt

o ST T |

e

Pimh tirg




